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    B.Sc. DEGREE EXAMINATION, APRIL 2017.
III YEAR — VI SEMESTER

Elective III: ACTUARIAL STATISTICS
Time : 3 hours
    Max. marks : 75

SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Find the present value at 6% simple interest of `2500 due in 9 months.

2. Define perpetuity.  

3. I owe `3750 due without interest 3 years from today.  What sum should my creditor be willing to accept today if he is able to invest money at 4% compounded semi-annually?          

4. What is meant by annuity?

5. Define immediate annuity and annuity due.

6. Define surplus.

7. Mention the advantages of level annual premium method.

8. In what time will `2000 amount to `2125 at 5% simple interest?

9. Accumulate `2500 for 8 years at 3.5% compounded quarterly.

10. Define Deferred Annuities and give an example. 

11. What is meant by office premium?

12. Write down the various types of annuities.   

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions. 

13. Find the nominal rate j compounded semi-annually equivalent to 4.2 % effective.
14. A sinking fund is set up by uniform payments made at the end of each year, to provide a capital of `4500/- at the end of 15 years; moneys in the fund accumulating at 8% p.a.  What is the uniform payment required?  What is the position of the fund at the end of 8 years?

15. Find the present value at the rate of 6% of 4 annual payments of `200/- p.a. followed by 7 annual payments of `350/-p.a., the first payment being made at the end of one year.

16. Discuss fair distribution.

17. Write short notes on policy values.

18. State the defects of natural premiums.

19. Find the office annual premium for a capital assurance `5,000/- redeemable at the end of 20 years, assuming interest rate of 6% p.a. and a loading of 8% of office premium.


SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions.

20. Derive Compound Amount formula.

21. The XYZ Company borrows `10,000 for 5 years at 6% compounded semi- annually.  In order to pay off the principal at the end of 5 years, a sinking fund  is established by equal semi-annual deposits, the first due in 6 months, into a  savings account paying 4% compounded semi-annually.  Find 
   (a) The semi-annual cost of the debt, 
   (b) The nominal rate compounded semi-annually the company is paying to    
         retire the debt.    

22. Explain average interest yield on the life fund.

23. Discuss Adequacy of Premiums.

24. Explain in detail two kinds of policy values. 
———————
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